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ID:______________________________________        Name:_________________________________________ 

1. Find all integers that are congruent to 3 modulo 5. 

 

 

 

 

 

 

2. Find the integer # such that # ≡ 3 (mod 12) and 11 ≤ # ≤ 22. 

 

 

 

 

 

 

 

3. Find all integers between −50 and 50 that are congruent to 6 modulo 11. 
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no 9 5 0 3 3

n l a 51 3 8 hiiz.iq 51 3I
n 2,9 5 2 3 1

A 7 2 3 8 13 18
454s

Sol 9 3 mod 12 9 12 nt3

if I a z2 then 1 2h13 23
8 12h 19

E n



1. Representation of Integers.  

    In everyday life, we use ____________ notation to represent numbers. However, computers  

    usually use _________ notation, ________ notation, and ______________ notation when  

    expressing characters.  

2. Decimal notation (base 10):  

    Acceptable digits: ___, ___, ___, ___, ___, ___, ___, ___, ___, ___. 

    For example, 2845 = (2845)!" =	 _________ + ________ + ______ + ____ 
                                                         = ____ × _____ + ____ × _____ + ____ × _____ + ____ × _____. 
3. Binary notation (base 2): Acceptable digits: ___, ___. 

    What is the decimal expansion of the number with binary expansion (10101)#? 

    (10101)# = ____ × _____ + _____ × _____ + ____ × _____ + ____ × _____ + ____ × _____ 
                      = ____ × _____ + _____ × _____ + ____ × _____ + ____ × _____ + ____ × _____ 
                      = ________________ 
4. Octal notation (base 8): Acceptable digits: ___, ___, ___, ___, ___, ___, ___, ___. 

    What is the decimal expansion of the number with octal expansion (7016)$? 

    (7016)$ = ____ × _____ + _____ × _____ + ____ × _____ + ____ × _____ 
                   = ____ × _____ + _____ × _____ + ____ × _____ + ____ × _____ 
                   = ________________ 
5. Hexadecimal notation (base 16):  
    Acceptable digits:  

___, ___, ___, ___, ___, ___, ___, ___,___, ___, ___, ___, ___, ___, ___, ___. 

    What is the decimal expansion of the number with hexadecimal expansion (27809)!%? 

    (27809)!% = ____ × _____ + _____ × _____ + ____ × _____ + ____ × _____ + ____ × _____ 
                        = ____ × _____ + _____ × _____ + ____ × _____ + ____ × _____ + ____ × _____ 
                        = ____ × __________ + _____ × ________ + ____ × _______ + ____ + _____ 
                        = ________________ 

decima
base so

binary
base a

octal
page

hexadecimal
base16

0 1 2 3 4 5 6 1 8 9
2000 800 40 5
2 103 8 102 4 10 5 10

0 1

1 24 0 23 1 22 0 2 1 20
1 16 0 8 1 4 0 2 1 1
21 121 10

0 2 3 4 56 7

7 83 0 82 8 6 8
7 512 0 64 1 8 6 1
3598

0 1 2 3 4 5 6 9 8 9 A B f

2 164 A 163 E 162 0 16 B 16
2 164 10 163 14 162 0 16 11 1
2 65536 10 4096 4 256 0 11

Theaboveexamples shw the meaningof integer representation

of differentbases as well as how to convert them to decimal


